University of Asia Pacific
Department of Law and Human Rights
Admission Test (Spring-25)
(Set-B)
Time: 1 Hour 30 Minutes Total Marks: 100
Name:
Serial No.:

Date:

Signature of the Applicant:

Signature of the Invigilator:

Marks obtained: MCQ Part: Written Part: Total:
Signature of the MCQ Examiner: Signature of the written Examiner:

Signature of the Scrutinizer:

(Answering both Part A and Part B is mandatory)

Start answering from the next page...

Page 1 0of 17 (Please Turn Over)



Part A

Tick (\/) the correct answers. Each question values 01 mark

. 'Who has rendered the national anthem of Bangladesh from Bangla to English?

(a) Syed Ali Ahsan

(b) Anisuzzaman

(¢) Kabir Chowdhury

(d) Sirajul Islam Chowdhury

. When was the first election to the National Parliament of Bangladesh held?

(a) 12 April, 1973

(b) 16 December, 1972
(c) 07 March, 1973
(d) 09 May, 1973

. Which of the following amendments omitted the Non-Party Caretaker Government System?
(a) 14" '

(b) 13t

(c) 151

(d) 16%

. Which article of the Constitution of Bangladesh has incorporated freedom of religion?

(a) 41
(b) 39
(c) 29
(d) 47

. Bangladesh predominantly follows
(a) Common Law System

(b) Civil Law System

(c) Religious Law System

(d) None of the above

. Who is the chief law officer of Bangladesh?
(a) Chief Justice

(b) Attorney General

(c) District & Sessions Judge

(d) Public Prosecutor
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7. Who has authored “ Dewana Madina Ballad™?
(a) Dinesh Chandra Sen
(b) Dash Rothi Roy
(c) Jasimuddin
(d) Monsur Boyati

8. By which organization was 215 February declared as the International Mother Language Day?
(a) UNICEF
(b) UNESCO
(c) UNHCR
(d) EU

9. What colour was adopted by the Anti-Discrimination Student Movement rejecting the
government’s black colour of mourning?
(a) Green
(b) White
(c) Blue
(d) Red

10. Which date has been declared National Martyred Army Day to mark the 2009 BDR mutiny?
(a) January 17
(b) February 25
(c) March 14
(d) None of the above

11. The disabilities removal Act of ‘country A’ was designed to ensure that there is no discrimination
against and unfair termination of workers in the workplace who have disabilities. However, after
the Act was introduced, there has been a marked increase in unemployment among the persons
with disabilities.

Which of the following best explains this difference between the Act and its effect?

a) A number of persons with disabilities chose not to work

b) As companies are not willing to deal with the issues of workplace discrimination of the
persons with disabilities, several companies recruited fewer of them in the first place

c¢) There was no Act introduced that would guarantee a job for the persons with disabilities
d) The unemployment among the able-bodied persons has remained consistently high

12. An Informal Gathering occurs when a group of people get together in a casual, relaxed manner.
Which situation below is the best example of an Informal Gathering?

a) Debating club meets on the first Sunday morning of every month.

b) Meena sends out 10 invitations for a bachelorette party she is giving for her elder
sister.

c) Whenever she eats at a Chinese restaurant, Jewel seems to run into Rubayat.

d) Afler finding out about his salary raise, Ratan and a few colleagues go out for a quick
dinner after work.
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13. Statements: All mangoes are golden in color. No golden-colored things are cheap.

Conclusions: i) All mangoes are cheap.
ii) Golden-colored mangoes are not cheap.

a) Only conclusion I follows
b) Only conclusion II follows
c) Either I or II follows

d) Neither I nor II follows

14. Some kings are queens. All queens are beautiful.

Conclusi"o’ns: i) All kings are beautiful.
ii) All queens are kings.

a) Only conclusion I follows
b) Only conclusion II follows
c) Either I or II follows

d) Neither I nor II follows

15. A study found that people who consume news primarily via social media score 15% lower on
political knowledge tests than those using newspapers, even when controlling for education level.
Algorithm driven feeds prioritized viral content over substantive reporting.

What is the primary implication?

a) Social media are less educated

b) Platform design shapes information quality
c) Newspapers are obsolete

d) Viral Content is inherently misleading

16. Researchers found that Dhaka Rickshaw pullers, who memorize the city’s complex street network,
have larger hippocampi (brain region for spatial memory) than bus drivers who follow fixed
routes. After retirement, their hippocampi shrink to average size.

What does it suggest about the brain?
a) The hippocampus cannot store long term memories
b) Spatial memory capacity is genetically determined

¢) Brain structure adapts to environmental demands
d) Aging inevitably causes memory loss
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17. "If it rains tomorrow, the match will be canceled."

Which of the following is true?

‘a) The match is canceled.

b) The match will not be canceled.
c) Itrained yesterday.

d) It may rain tomorrow.

18. Erin is twelve years old. For three years, she has been asking her parents for a dog. Her parents
have told her that they believe a dog would not be happy in an apartment, but they have given her
permission to have a bird. Erin has not yet decided what kind of bird she would like to have.

Which of the followings i true?

a) Erin's parents like birds better than they like dogs.
b) Erin doegs not like birds. :
¢) Erin and her parents live in an apartment.

d) Erin and her parents would like to move.

19. On weekends, Mr. Sanchez spends many hours working in his vegetable and flower gardens. Mrs.
Sanchez spends her free time reading and listening to classical music. Both Mr. Sanchez and Mrs.
Sanchez like to cook. ‘

Which of the followings is true?

a) Mr. Sanchez enjoys planting and growing vegetables.

b) Mr. Sanchez does not like classical music.

¢) Mrs. Sanchez cooks the vegetables that Mr. Sanchez grows.
d) Mrs. Sanchez enjoys reading nineteenth century novels.

20. Georgia is older than her cousin Marsha. Marsha's brother Bart is older than Georgia. When
Marsha and Bart are visiting with Georgia, all three like to play a game of Monopoly. Marsha wins
more often than Georgia does.

Which of the followings is true?

a) When he plays Monopoly with Marsha and Georgia, Bart often loses.
b) Of the three, Georgia is the oldest.

C) Georgia hates to lose at Monopoly.

d) Of the three, Marsha is the youngest.

21. Passenger train coaches have been derailed and blocked the railway track from both ends. Courses
of action:
L. The railway authorities should immediately send men and equipment and clear the spot
II. All the trains running in both directions should be diverted immediately via other routes.
a) Ifonly I follows
b) Ifonly II follows
¢) Ifneither I nor II follows
d) Ifboth I and II follow
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22. Kevin, Joseph, and Nicholas are three brothers. If the following statements are all true, which of
them is the youngest?
i) Kevin is the oldest.
ii) Nicholas is not the oldest.
iii) Joseph is not the youngest.

a) Joseph

b) Kevin

¢) Nicholas

d) Both Joseph and Nicholas

23. All bags are cakes. All lamps are cakes.
Conclusions: i) some lamps are bags.
ii) No lamp is bag.
a) Only conclusion I follows
b) Only conclusion II follows
c) EitherI or II follows
d) Neither I and II follows

24. Raman is always successful. No fool is always successful.
Conclusions: i) Raman is a fool.
ii) Raman is not a fool.
a) Only conclusion I follows
b) Only conclusion II follows
c¢) EitherI or II follows
d) Neither I nor IT follows

25. What is found necessarily in a game?
a) Players
b) Spectators
c) Referee
d) Victory

26. Which word does not belong with the others?
a) Tulip
b) Rose
¢) Bud
d) Daisy

27. Mitu in order to go to university started from his house in the east and came to a crossing. The
road to the left ends in a theatre, straight ahead is the hospital. In which direction is the university?
a) North
b) South
c) East
d) West
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28.A, P, R, X, S and Z are sitting in a row. S and Z are in the centre. A and P are at the ends. R is
sitting to the left of A. Who is to the right of P?
a) A
b) X
c) S
d) Z

29. Statements:
i) Importance of Yoga and exercise is being realized by all sections of society.
ii)There is an increasing awareness about health in a society particularly among the middle
ages group of people.

Which statement above is the cause and which one is the effect?

a) Statement I is the cause and statement II is its effect.

b) Statement II is the cause and statement 1 is its effect.

¢) Both the statements I and II are independent causes.

d) Both the statements I and II are effects of some common cause.

30. If A is the brother of B; B is the sister of C; and C is the father of D, how D is related to A?
a) Brother
b) Sister
c) Nephew
d) Cannot be determined

31. Choose the figure, which is different from the rest.

B=l=]§ e

M @ 6 @ 6

a) 1
b) 2
c) 3
d) 4

32. Choose the figure, which is different from the rest.

S |B|S |V

Mm@ 6 @ 6

33. Fill in the blank: 2, 3, 5,7, ?
a)9 b) 11
c) 10 d) 12
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34. Find the missing symbol in the pattern:
ADO,OA0O00A,?
a) AOO by OOA

0) OO A d) AOO

35. What is the missing number? 5, 10, 20,......... , 80
a) 25 b) 30
c) 35 d) 40 -

36. Choose the missing shape:

mOOEOCOm?
a) A by
c)m d)yOm
37.1f6 +4=52,8+3=65,5+7=?
a)40  b)45
)35  d)57

38. Complete the number series:

36:6::81:7
a)7 b) 8
c)9 d) 10

39. Triangle: Pyramid:: Circle : ?
a) Cone b) Sphere
c¢) Cylinder  d) Cube

40. Pentagon: Decagon: Triangle:?

a) Nonagon b) Hexagon
¢) Heptagon d) Hexagram

8. &% I (FNIG?

F) ORI %) NGB!
R)RCUICH| DRETED

8. I P AFI* P- T PYTT AP 1 Y -

) SeeTY )BT
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89, “Repeal” *IAHF “NMTOINE W 2

F) Ao ) Jifee
) WCINN ) (TSI Bror=T

88. “(NTH" (FIV S &Y *1F72

F) FEM ) T
QI ) TS
8. Fair Weather Friends I3 FTRIBIE 1T ST (FINIB?
F) Ec&@'m@ ) QTR
M) AfFNF 5T ) WCHT I
8Y. “[AIMPTE BANICIF I6fol (2
) W8T T ) T e Tfere s
a1 CIfeT = R BRERRIEERRE e
894,97 JI<FT (P62

F) W Morgal HroB ¥) RS 789w =ty
5) QTP S, RO (RN ) SqIfSy Sy g =T

8 IR I ST *197 (G2
) ARG ¥) AL
BEET] ¥) 4
85.(FNI6 GIINN™ WITHE T57T 7I-
F) TS Al ) R [iferar
57) W< =y ) TR

¢o. ATV TP F© S (NI AFFIF A2

F) 4559 ) V90
M) S50 ) 453D

51. Plural form of ‘deer’ is-----

a) deer c) deeres
b) deers d) dear
52. When you wrote the exam, ------ time to answer all the questions?
a) do you have ¢) did you have
b) have you had‘ d) had you had

53. One word Substitution- One who is not easily pleased by anything-

a) Maiden c) Precarious
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b) Mediaeval d) Fastidious

54. One word Substitution- The practice of having more than one husband at same time-

a) Polygamy ¢) Polyandry
b) Polyphony d) Polychromy

55.Idioms and Phrases: The speaker gave a bird’s eye view of the political conditions in the
country.

a) apersonal view c) a biased view
b) a general view d) a detailed presentation

56. Idioms and Phrases: | am sure they will fight tooth and nail for their rights.
a) with all their might ¢) resorting to violence

b) without any other weapon d) very cowardly

57. Select the CORRECTLY spelt words.

a) Reharsal c) Rehersal
b) Rehearsal d) Rehearsel
58. Our country is a spiritual country, theirs ----- also religious.
a) is c) are
b) has d) have

59. Select the most appropriate synonym of “BROWSE”.

a) Heal c¢) Examine
b) Deceive d) Strike

60. Antonym of “MISERLY".

a) Generous ¢) Avaricious
b) Liberal d) Charitable

61. Fill in the blank: "Sumon has applied for the job but he isn't very well qualified for it. I ----
(be) surprised if he ---- (get) it.

a) is, will get c) will be, gets
b) have been, have got d) will be, will get
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62. Sentence Correction: There are not many men who are so famous that they are frequently
referred to by their Short names only.

a) initials c) signatures
b) pictures d) middle names

63. Raja’s speech pointed----- some of our defects.

a) to c) at
b) towards d) on

64. Voice: Alexander expected to conquer the world.

a) It was expected by Alexander that he should conquer the world.

b) It was expected by Alexander that he would conquer the world.

¢) It was expected by Alexander that he will conquer the world.

d) It had been expected by Alexander that he would conquer the world.

65. 'Books are a man's best companion's in life'- A7 ST3F WM (FG 2

a) “[FF NI GIAAI TSN 571
b) *[BF NI TN IG IF

¢) “IEP VT s 5751

d) *[BF T WA= S50

66. (SIS 0T §fF FACS , FTZTZ(E 06T TGS AHFCS - A7 SIS Translation (FNG 2

a) The devil wouldn't listen to the scripture

b) Run with the hare and hunt with the hounds
c) Birds of a feather flock together

d) None of these

67. ‘The anti-socials are still at large’ 49 5™ RCET-

a) SIS FRCAR 7ol U (@51 TG

b) SIS FRCARIRT GYN (¥ I GLe12 G A
c) TG FRTAIRIRT G4 471 (RN AR

d) (FGR

68. Sentence Correction: The small child does whatever his father was done.

a) has done c¢) had done
b) does d) did

69. Sentence Improvement: Taxpayers gre to be conscious of their privileges.

a) need c) have to
b) ought to d) no improvement
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70. Sentence Improvement: The houses in our street are more beautiful than on the main road.

a) than that on the main road ¢) than there on the main road
b) than those on the main road d) no correction required

71. Which global recognition did Bangladesh receive in 2021 regarding its economic progress?

a) Full membership of the Association of Southeast Asian Nations (ASEAN)
b) Entry into the G7 group

¢) Graduation from the list of Least Developed Countries (LDCs)

d) Becomjng a nuclear-armed state

72. From which country did the United States of America (USA) buy Alaska in 18677

a) Russia
b) China
c) Canada
d) Australia

73. Which city is considered the unofficial capital of the European Union?

a) London
b) Brussels
c) Paris

d) Madrid

74. Which team won the ICC Men’s Cricket World Cup 2023?

a) England

b) New Zealand
¢) Australia

d) India

75. ‘Helsinki’ is the capital of

a) Norway
b) Finland
¢) Germany
d) Italy

76. UN security council consists of

a) 11 members
b) 15 members
c) 5 members
d) 50 members
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77. Which organization is primarily responsible for regulating international trade and settling trade
disputes among nations?

a) World Bank

b) International Monetary Fund (IMF)
¢) World Economic Forum

d) World Trade Organization (WTO)

78. What is the primary concern of the “Global South” in international climate negotiations?

a) Protecting fossil fuel industries

b) Increasing military spending for disaster relief

¢) Reducing emissions faster than developed countries

d) Securing climate finarice and technology transfer from developed nations

79. What is the name of the financial institution established by BRICS to support development
projects?

a) World Bank

b) BRICS Development Forum

c) New Development Bank (NDB)
d) Emerging Markets Fund

80. When was The Association of Southeast Asian Nations (ASEAN) founded?

a) 1955
b) 1967
c) 1945
d) 1978
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Part B

(Mark: 10)
AR (GFH2 Vo & BT [AFH® FICO Groy N6 433 T FTeIfFs JHHad Wy BN
(FABE WEF BFF A FER? IS (OTNF TOTT® AR AT

(o000 “T@‘()
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Caption: Dhaka’s Love for Deliveries.

Write a short essay of 1000 words based on the above picture. Please use your imagination while
writing the essay. (Mark: 10)
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